
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3.�=PDM�$OSDPP���7X]OD �������������������6WUDQLFD��

/HWQMH�SUYHQVWYR�36�&6�033�����
.UXãHYDF��65%�����������

'LVFLSOLQD��� 'HYRMþLFH�����P�6ORERGQR�)UHH 0ODÿH�SLRQLUNH
������������������ 5H]XOWDWL
1H]YDQLþQL�UHNRUG�65%�2WYRUHQR ������� %$6$5$%$�$QGUHUD 3$5 ,UYLQH��86$� ����
1H]YDQLþQL�UHNRUG�65%����� ������� 0,-$729�,QHV 352 5DGRYOMLFD��6/2� ����
1H]YDQLþQL�UHNRUG�65%����� ������� %$6$5$%$�$QGUHUD 3%* &DOLIRUQLD��86$� ����
1H]YDQLþQL�UHNRUG�65%����� ������� %$6$5$%$�$QGUHUD 3%* %HRJUDG��65%� ����
1H]YDQLþQL�UHNRUG�65%����� ������� %$6$5$%$�$QGUHUD 3%* ,UYLQH��86$� ����
%RGRYD��),1$�����

5DQJ *RG�U� 9UHPH %RGRYD

�� ='5$9.29,û�1HYHQD �� &UQLFD��31 ������� ���
1LMH�]DYU� 5$'$.29,û�,YD �� 5DGQLþNL��.*


